IPv6

IPv4

EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

dnssec_comPp_afi-v4-UDP_frag

IPv6 Dual-Stack
EDNS0:512 EDNSP:1232 EDNSP:4096  EDNS0:512 EDNSP:1232 EDNSP:4096  EDNS0:512 EDNSP:1232 EDNSP:4096
27\ 7 727 NN\ | 2400 | 4927 | 44747 R/ A //ARNNNN
L7 0 Y2 NNNN | LA L | Ll 7/ 7 777 | \NNN\N
Y Y 7 NNNN | A 07| Ll 7. |7 747 | NN\
2| 2 L NNNNN | OSSO s | S 7] 72 YA | NN\
A AR V72207272777 BN ARY
274 77 NNNN ///’/// Y17 ///’/// VR /N /]
Y\ Y L7 NN\ | UL L LA | S /A v LY
N7\ 7 Y72 NNNNN | LA LAY | 07 7 AN/ /4
77 % 27 NN | 2700 1007 | 44594 7R/ /7
YNl 27 | NN\ | LAl | 2L | L Z /7
27 Y L7 NN\ | YOLL LS | Yl I/ AN/ A/
N\ Y2 | NNNNN | LA L2 LA 7 Y/ N/ 74
i
ll&_s QlNQ ANAN  ANAN | NN ll& [ |
NN | WNENN WANN | NN QNN N ||
IINN NIQN NNNAMNANNEENANNNNEENNNYNRN llN [ |
NN | NENWN A\ANNNNENNN NN A NN INANNY A\ |
AN Y N/ ANV /4 A/ NN
/AN AN/ 270 /AW /YA /e 7 /4 I\
HENN NEXNN = AVNN | NN | NONNN | HENHEH NENN |
IINN N NN | NNNRNAMNEINEINNNNENNNNNRN] IINI NENNN [ |
NN | NENN | = ININNNNEENNNINANEENIANANNNY N NENWN ||
HEXN  NENN | = NONNN | ONNN |  NNONN | HEXNE | NEYN |
TT T T T T T T T TTT TT T T T T T T T 1717 TT T T T 17171 T
IR IRRT IRRS IRRT IRRS IRRS  IRRE IRRS B
SO0~ SO0~ oOoo-~ SOOo- Ooo- ooo-~ SO0~ Soo- =
TIN TIN  TIN TIN  TIN  TIN TIN TSN X}
S ® [Sye-] S ® Q ®© [Sges) QS ®© [Sges) QS © @
S5 535 53 535 53° 535 53°  53° S
c<> =) c<s c<s c<> c<s c<> c<S >
628 o528 o238 oS358 ©3s 38 ©38 ©38 1
T T
o= S= o= S= o= o= o= °= =
= = = = = = = = =
c Cc Cc Cc c Cc c Cc Cc
=) = =) = =) = = = =)

T
<
N

500
1280 (PMTUD
1280 Eno PMTUD
Path 1280 (no PMTUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 D
Path1280 (noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280

Path 1280 noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (no P Iv?
Path 1280 (noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

100; X >Y
50

10
5

-50
-100; X <Y

lOg( | %nssets (X) - %nssets(Y) |)

fv)



